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QUESTION 1
Which statement represents a significant advantage of using vRealize Operations for Horizon 6?

A. The administrator\\'s monitoring window flashes with a colored surround immediately an issue or problem occurs in
their virtualized environment.

B. Performance issues and problems appear as color coded pop-ups on an administrator\\'s management window.

C. Administrators can receive color coded emails indicating the severity of issues or problems in their virtualized data
centre.

D. Smart alerts are generated when performance data of monitored objects deviates from acceptable norms, or when a
problem occurs.

Correct Answer: B

QUESTION 2

Which statement represents a Customer Requirement that could be met by implementing a VMware Horizon (with View)
deployment?

A. We need to centralize access to common services and provide a uniform, secure, easy to manage image for
employee access.

B. We want to reduce the amount of hardware in our datacenter by making more.
C. We are looking for an easy way to recover our user services in the event bf unplanned downtime.

D. We need to centralize our management functionality and be able to quickly and efficiently monitor our datacenter
services.

Correct Answer: C

QUESTION 3

An administrator is using VMware Mirage to create a base operating system image, but is concerned that deploying this
operating system to different types of hardware can cause many problems.

What two tasks can an administrator implement to avoid this issue? (Choose two)
A. Use a specific Application Layer driver during deployment.

B. Create operating system image via Sysprep with all pre-installed drivers.

C. Deploy, maintain and use a Driver Library.

D. Allow users to install their own drivers and applications.

Correct Answer: AC
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QUESTION 4

A company has engaged a consultant to configure a way to provide a generic virtual desktop to users as (hey login.
Users will not save data to their desktop and all client data is redirected through Group Policy Objects.

Which Horizon (with View) feature will accomplish this request?
A. Full Clones

B. Dedicated pools

C. Floating pools

D. Linked Clones

Correct Answer: B

QUESTION 5

Which three products have been integrated into VMware Workspace Suite to power virtual workspaces and combine
application and data management on devices? (Choose three.)

A. vRealize Automation

B. AirWatch Mobility

C. VMwute Workspace Portal
D. VMware Horizon (with View)
E. vCenter Server

Correct Answer: ABD
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